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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :
1x7=7

Rt SR were Al epeTed Ted fodll 8

(a) Fisher’s ideal index number is the
geometric mean of Laspeyre’s and

Paache’s index number.
(State True or False)

ot e SHIRF (2R TR S AN
EIRIT BTG T | (5% (7 T5% [F)

(b) With which component of time series ‘a
strike in a factory’ is associated ?

FIEACHTT @G0! TAIMR 0o ‘Gbl IS
(3 O Too ¢
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(c) Name the control charts which are used
for attributes.

@9 IR IR 391 fFaze wiefoas amw &
(d) State the laws of demand and supply.
vifzwl S st Rt T 3|

(e) Consumer price index number is also
known as index number.

(Fill in the blank)

AT &) FPIRTE oIS Jfere T
T3 | (I1eT1 312 939 F)

(f) State two sources of vital statistics.
T ARAA OAR 70 T GrEd ¥ |

(g) Process control is achieved through the
technique of (Fill in the blanks)

aifera fRmd AT RN TG I
| (JIET! 2120317 9[99 F1)

2. Answer the following questions : 2x4=8
weTe fral ehisTRd Tes vl ¢

(a) What do you mean by demand and
supply of a commodity ?

51 I Bl SR i Ffercet & gt 2
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(b) Define crude death rate. Why is it called
a probability rate ?

SrHiifEe oy 21T ! [l 1 301 59 FAsiiker
QL Q=T ?

(c) Define time series. State the
mathematical form of it.

FIATR ! a1 23R anfafes wel T =t |

(d) Distinguish between assignable causes
and chance causes in S.Q.C.

RG] I S ISR FIRET T 2A1<7

o 1|
3. Answer any three questions from the
following : o5x3=13
wete Al Rzl folqor s e fordl ¢

(a) Explain time reversal test and factor
reversal test of index number.

THIT AT TP S BAMI SEEFA AT
BIRINESI

(b) What are different components of a time

series ? Explain any one of them.
2+3=5

FecT 9 f[fen Tolieimr & & 2 Ricerear 9ors
Racg I 1 |
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(c) Define equilibrium price. The demand
curve and the supply curve of a

commodity are givenby D=19-3p - p?
and S=5p-1. Find the equilibrium
price and the quantity exchanged.
1+2+2=5
SIS R @ 0l | G5t #miefR bifzwni e iz

(A IS YOI % T D =19-3p - p2

¥ S =5p -1 | SN ET D WS T
*1q1 sifIe Fefa 41

(d) Name different types of fertility rates. In
what sense age-specific fertility rate is
better than general fertility rate ?

2+3=5

fifen Teor ZoomEm A & | Ay TdorR
0T R Tl 79 w2

(e) A plant produces rolls of paper. The
number of defects disclosed by
inspection of 20 rolls are given below :

13, 3, 8,11, 5,17, 3, 4, 6, 11,
13, 7, 10, 20, 9, 11, 8, 12, 9, 20

Using an appropriate control chart,
comment on the state of control of the
product.
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(I 61 AT Foe 5ifS Seom @ | 9=

2001 (153 efomf3 ARTFRET WFRR 2/ize
ATSTO! (AT (AR 0 A Tote 7 T4 2

13, 3,8, 11,5, 17, 3, 4, 6, 11,
13, 7, 10, 20, 9, 11, 8, 12, 9, 20

951 TAYE Foae S Tesva feFies
e Tgre 4 AR RIw oo v
4 |

4. Answer either4(a) or4(b):
4(a) I 4(b) I TER fo7 ¢

(a) Write a note on net reproduction rate.
Show that GRR>NRR. Explain what are
meant by NRR<,=,>1. 4+3+3=10

2PS AT FF 87Fe aft (I feran | ey
(@ GRR>NRR, NRR<,=,>1 IF 3@ 3@y
GG [

(b) Define index number. Describe simple
aggregate and weighted aggregate
methods of construction of index
number. Mention the formulae obtained
by using different types of weight. State
two limitations of index number. 10

3 (Sem-4/CBCS) STA HG/RC/G 5 Contd.



S.

IHIIIA A [ | THFIE 9107 71 W% SIS
SR A 2% o3 301 711 | S s ey IR
CART FPIRFT (AR 740 | oFIFI 757
ARmSe! GrEd 341 |

Answer either S(a) or S(b):
5(a) 91 5(b) I T ferdll 3

()

(b)

What are different methods of measuring
trend ? Explain how the least square
method is used in determining straight
line trend. Discuss the merits and
demerits of this method. 2+4+4=10

sirerel Refm 31T Rion smafemz & & ¢ 5@
e ereret [N 11T e v Frew 3ef
&S YT 9 W YT 311 | 93 A= (M-
QAT ST I |

What is control chart ? When is a process

said to be under statistical control ?

Explain X and R charts in detail.
1+1+8=10

fArgd ioa & ¢ Teoinw aferm ot fom
ARPREE Fagee @ & R @ X e
R ifoa gt 3941 |
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6. Answer either6(a) or 6(b):
6(a) I 6(b) I TEA &1l ¢
(a) Write notes on the following: 5x2=10
weTe AR 810 (il foraif ¢
(i) Engel’s law and Engel’s curve
ST I P ST I

(iij Determination of elasticity of
demand by family budget method

ARAFI AT $YR 2131 GifznIR FRfogrorre
[CRRC|
(b) Discuss various problems involved in the
construction of index numbers. 10
IHIIT AGOFTS T (FRI f[feq TR
AN 41 |
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